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. Complete the table:
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Square

Rectangle

Trapezoid
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Rhombus

Pentagon

Hexagon
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Triangle

| Solids and shapes
Geometric shapes
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Solids

solids is thrae dimensions shape

1) cnmn!ete the following
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Exercise

Find the result : . :
42 25 60 44 56 S
+3 2 +7 1 +15 +35 121 *23
62 9 1 38 33 59 68
62 65 45 33 50 86
+3 2 42 -20 +3 1 + 38 -3 6
Find the result :

80+ 200 = 30+19 =
2D * 83 = ... 65 25 = . .
90 = T0 = ... 40 32 = |
i . 5D = o 25 +40 =

20 ok 20 = o 37 _20
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Exercise

1-Join

Triangle -

Square

Rectangle

Circle

2-Name each of the following

------------------

------------------

---------------

rectangle Square circle Triangle




—

Join

Cylinder.

Cone

sphere

Cube

Cuboid

Pyramid

Prism

5-Name each of the following
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Name : Prism '-qr-

Lateral faces are all rectangles.

Nume : Cylinder.
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superhero stickers. How many stickers does Layla have all tagether?

=
Py 19 R A .'".

Aisha went on a bug hunt.

.
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How many bugs did she find in alli?

Tens

Ones

ZHEX

|

L

Tens

Ones

che counted 62 ants and 26 crickets,

Tens

Ones

Z

i

ZE N

Layla has a collection of stickers. She has 54 car stickers and 44
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Tens

Ones

Tens

Ones
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Tens

Ones
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335
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+ 1186
428
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comi::lete:

20 + 30 = ...... 10 + 20 =
40 + 50 = ...... 60 + 20 =
50 + 200= ...... 40 + 30 =
30 = 30 = ... ' 50 + 30 =
200+ JO:s o 80 + 10 =
4-Subtract

80 - 30 =.... - 60 - 20 =
70 - 850'=...... 30 - 20 =
50 - 20 = ... 40 - 30 =
a0 - 30 = .... 50 - 10 =

00 - 70= 0 )
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=  Real life problems:

2 @

_: The number of pupils in a school is 945

,..x If the number of boys is 536

2 How many girls are there in this school?
T:,”‘ TﬁE number of g;riﬁ‘, = , s S 4 i
In one of the governorates, some students
i decided to plant 875 trees in their village
a to improve the environment.

; If they started by planting 247 trees.

= How many trees are left ?

= The remaining trees = e = e =

o

- Afruitseller has 562 kg. of apples.
He sold 345 kg. of them,

How many kilograms of apples are remained ?

The remaining apples = - = i = e,

The number of visitors to a garden were 876
478 of them were children.
How many adults did visit this garden?

The number of adulls = oo = oo
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Write in digits: @ , ]

a- Three hundreds and fwenty-Two 5 s7e8°

b- One hﬁndrad andforty = — 551 i1t

¢- Six hundred -::ﬁd fourteen= -

d- N.ine: hundred and three = --—=—-- -

e- Seven hundred and eleven = =

f- Eight hundred and fiffeen =

o ]

j- 6 hundreds , 2 units =

k- 2 hundreds , 15 units =



B-Write in letters:

~ s B

el =

C- circle the set which is less:




Arrange the following set of numbers in
an ascending order: 674 , 647 , 500, 764 , 467,
236 :

Ascending order : .........

r B GRS AFED _' aRE adEE awd ,- AEE EEE a0 E ‘- AR FERE SN ‘ L L L R R

- Arrange the following set of numbers in

- a descending order: 509 , 634 , 437 ,734 ,347, 643
Rescendingiordert. i Ll aniay e

The greatest number is ...........

The smallest number is ..........

The difference between them =...........cccco..c....

Complete :
894,884 874 .., ... . ..
390, 400,450, ...
oS I o e To ) Lo L BRI L
287, 290/, 2930
SLAON e G{O10)

LE X ' LR ’ iiiiii ' LR L]

- Ashraf had L.E.215 and he bought a present in
Mother's Day for his mother. The present cost
L.E.76
The ma




Complete as the example:
.

Example: Write the numbers between 100 and 107
101 . 102 . 103 | 104 ., 105 = 106

a- Numbers between 232 and 239 .

- -
- - LR it SH——

------------------

b- Numbers between 712 ond 719

--------- i - = A
" " = T e e — i

c- Numbers between 885 cnd 893

write the number tha

izl
Example: 10 more_than 150 Example: 10 less than 486
150 +10 = 16C 486 - 10 = 176
a- 10 more than 160 = -===-———""= a- 10 less than 90 = -—-eeeeeee
b- 10 more than 815 = -- b- 100 less than 270 = ———----
1 - c- 10 less than 78 = ~=-eevanua

¢- 10 more than 910 =
d- 100 less than 352 = -------

d- 10 more than 507 = -




............................
lllllllllllllllllllllllll
| i ] L}

977 — 445 =

999 - 736 =
545-..';":1'! =
687 — 345 =
396 - 145 =
867 - 865 =

3 777 - 26 = delina.

897 —zero=

4‘31]’-’1‘3"’*#-# ” .-.
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Subtract as the example:

,'_'-'5 Example .
y

8o 347 10 £

~a.3 2 =237 = e
425 110 31

uj_

-I-".-- kT - e - -
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L, aom o PR x : ]
- L » yooer ey iage: T s ” A - -

L]

®
978
-725

©
450
-850

789

|
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number | Add 1| Add10 | Addioo
215 | 210 | 2005 | @15 |
510 i SR i, e -
346 e i .
T 1 N
e R

799 | |

Write a number that is:
* 1 more than 389

* 10 less than 537

» 100 less than 854
* 10 more than 298
« 1 less than 400
» 100 more than 543

¥
llllll

Complete
10 tens = hundreds = ...
30 tens = ... hundreds = ...

...... +tens = 7 hundreds = ..
..... ' Yensi= o hundreds = 500

Karim bough ‘
How much money did karim pay?

Karim paid = oo o o T R R

t a book for P.T.300 and a pencil forP.T.200




\rrange inan ascending order:

120 0 6RY a0 Y 4He

e 341 . 2040 460

t0- Arrange in & deseending order:

700 ) "2981 sl iieed

. BT

B L Iy — — = L

900, . 832 . 670 , {60

1 301
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possible 3-digits number
9. 18) 2
The smallest number 18

The greatest number Is

Bt 13) k7
The smallest number is
The greatest number is ...

41 Q) (3)
The smallest number is ...
The greatest number is .......

() 7 (1)
The stnallest number is ...
The greatest number is ..

1 Why not work in a team ]

b ¥ B e » LE IS .
£ o ...- N - "
¥ - ot ol £ L3R
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Join to have a sum of 10:

Q6 ®.0 @
®@ ©@ ® @ ® ®

Circle the two numbers whose sum is 10:

(s 2 % iuhl i 7 & 0 &
= —

f ]

{ 5 8 3 [2 0 7 19

Complete

F3+1+6= ..... | (2+7+1= .....

1aSngm 6+1+...=10
. — gEs

6G+2+2= e | (9+1+..=10

44+ (545+..=10

.....,.-l--l'-_?
L "_'Ila_-:- 7

":;-r-;-:li. 3

43339
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¥
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el
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Ordering numbers
and
Comparing two numhars_

1- Circle the greatest number:

26 ,39 .40
406 , 389 ,L 126

728 ., 738 127

918 , 919 ,L909

2- Circle the smallest number :

96 ,81 ,7¢
261 , 270 , 281

Tok . 112l Tl

620 , 631 ,610

3- Put the suitable sign > , < or = :

461 400+ 10+6

258 852

g18 | | 800 + 8

790 Seven hundred and ninety




Write the greatest and smallest number that can be formed using

. the following cards:

4 , 0 ; 1

B-’ 3 ¥ 5 B i g | n

The smallest number = ---- -——————— @S}

.I-.rl-.
Sl
Feie;
¥

b

The greatest number = ---—--———---- EE The greatest number = —-—--—-
3 ] n L] z 5 L] 1 L] 3

The smallest number = -~ .omeeeev e smallest number = —--w--.

The greatest number = —--————-—-— The greatest number = -



Complete as the example:

7 8 5

Example: 78 5 = -————- hundreds , --------- tens , ----——-- units

a- 236 = ---------- hundreds, -------- tens , -=----——- units

b= 179 = ==mre—==n UNITS ; =——re——TENS [ mnee hundreds

c- 728 = ——=mmeemm hundreds , ---------- units , ---------- Tens

d- BO7 = --—-—==- units , -—-------- hundreds , ----————— Tens

e- 890z ——— hHundreds, -------- tens , ~=-———-- units

f- 4009 = ———=-=-— units , ———--=-- - tens , ---------- hundreds

g- 716 = -—--------- huncrads , ------—-—units , -———-=-- tens

5- Match:
629 500+ 8 + 60
5686 ' 2C +600+9
127 400 + 90

490 7 + 20+ 100
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Complete:

L
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LT, PO (ST
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Tens

cnes

37

Tens

Ones

Tens

Cnes

56
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Add as the example:

L J

@j Example :
; -

16?1-:1

I.+:‘-i

420 + 338 =
©

412 + 381 =

B27 + 32 =
786 + 203 =

SU‘D--F 306 =

©)

@

®

®

®

®

Q

S 2 =599
.-:'1_'] __ -

481 + 505 =

300+ 204 =

216 + 472 =

612 + 330 =

165+ 523 =

208 + 601 =

182+ 16 =

y B33

s Bl 2l Ky =k B
5 35 3 T

¥ T R



[Sheet |

_ﬁ [1] Add as the example:

426
+361

456
+ 332

354
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4+3+--—--=9

Complete:

a- 200 , 400 === T8

b-100 , 300 , 500 , ---=-===my, ~=nesas
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d--320 , 330
e-155 , 156 ,
f-—--eeee 574 |, 575 , -----eee- , ==m———- , mmmm—e—— , mmmm————

g-860 , - , 858 , 857
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Jidel read 67 pages of a book in one day

In the next day he read 24 pages.
How many pages did he read in the two days 7

vwhat he read =

+

and 58 tourists in the second.
How many tourists are there in the two buses 7

lee number of tounsls =

A travel company has two buses.
There are 34 tourists in the first bus

+

pages

A larmer had 482 hens and 109 ducks.

*  How many hens and ducks
¢ did he have all together ?
What he has = -

i

Il

birds.

tourists

ENMAD EI BAKRY Man

. Alli has 627 new stamps, if he had 246 old stamps.
How many stamps are in Ali's collection now ?

What Ali has =

.

stamps.
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~Complete in the same pattern:
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Complete using (<), (>) or (=)

(@ 611 + 238 O 849 (b) 314 + 462 O 786
(©) 231 + 412 O 787
& 417 + 132 O 321 +328 | (D214+215 O 323 + 106
(@) 860 + 129 Q 287 + 702 | (h)304 + 573 O 283 + 615

(D 326 + 231 O 5 hundreds, 7 tens and 5 units.
(1) 555 + 444 O seven hundred and twenty-seven.

Complete as the example:

Example :
s 57 + 4
sl ) u574341
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